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B G 31,503,600 29,170,000 (A) 2,333,600
AL GRS 32,070,600 29,695,000 (B) 2,375,600
E LRSS | 29,299,320 27,129,000 (C) 2,170,320
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% HWEHNEREBR MM LEETISE No. 1
RETZE EAT RETERR o
= L & = 34 11 3 & ié;i =
wmoO= T TINNT s g M B e | EIHEE WE
[EREZAR %
[ #ETHE 2V 10,324,979 = 10,333,519 8,540 HA%H
| EXGETHF = 2,119,202 = 2,462,102 342,900 HH%HE
IM| el T4 =X 8,900,280 Y 8,900,280 0
[ERCAR: 21,344,461 21,695,901 351,440 B4%H
SiSTE
[| sk = 1,107,750 = 1,119,415 11,665 H4%A
| BUGE e = 3,932,362 = 4,046,150 113,788 %A
— X B = 2,786,210 = 2,833,693 47,483 HA%A
B TE 7,826,322 7,999,258 172,936 H4%A
&t 29,170,783 29,695,159 524,376 HY%A
Xt eKE (T3 mg) SREEST 11U e 29,170,000 29,695,000 525,000 H4%AE
THE RS Y%A 2,333,600 2,375,600 42,000 H4%AH
WA (=) 31,503,600 32,070,600 567,000 H4%AE




% R WEHINEREEFE M LRETLE No. 2
RETZE EAT RETERR et
"= g B B s g B B o | EUEEE W
I |BETSE
1 |EE R T 1 = 429,075 1 = 429,075 0
2 |EBEE&ETE 1 X 2,437,616 1 =X 2,437,616 0
3 |[NEUELE 1 K 3,351,701 1 = 3,360,241 8,540 HE%H
4 |EELETE 1 &K 102,246 1 =X 102,246 0
5 |2=yb OZFfh T8 1 = 2,853,880 1 =® 2,853,880 0
6 |-y 1 =X 1,150,461 1 XK 1,150,461 0
&t 10,324,979 10,333,519 8,540 HY%H
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L AX AT 2 S HI X 1 -
% i 1 L - — : " Il
% B HAL| B 4 K (B E|HAL] OB & H
B L3

BT R (1) BT ERAR = 61,420 = 204,260 142840 |Ha%E

(2) AT Syl = 1,595,513 = 1,595,513 0
(3) Lt My FaV 332,629 = 369,389 36760 |HE%A

GRS & el (1) MAVERE FaV 129,640 = 129,640 0
EE PSSR = 0 = 163,300 163300 |Ha%E

&t 2,119,202 2,462,102 342,900




